GlacialTech®
Enlighton Your Humanity

GL-BL Series Brace Accessories
Installation Instructions for High Bay Light \

HER—

HUHHSZ 48 ~ SRERBCiF
MAZZE x1

L A28 x 2

S 4 o M4x10 40244 x 4
< o M8x25 N/NFiE4ReH & x 4
2
(o
%@ o Step 1
05 0o Pt
(g, @
0 g 0 Gather parts for brace assembly.
(o 6 0 4 @ | U shape brace x 1
[ \ @
0 4 5 | Lshape bracex2

M4x10 screws x 4

M8x25 screws with nuts and washers x 4

SRR
7 LRISZ 28 1L Max10 4H A 844 sH b 12 BRI
ZJEEL - HEAH -

Step 2.
Use four M4x10 screws to attach the two
L-shaped braces to the bottom of the power

box.

FER=
RS2 DL M8x25 BRAA ({7 S B 1 WA
AL RISZ AR E -

Step 3.
Use four M8x25 screws to attach the
U-shaped brace to the exterior sides of the

L-shaped braces.

B4 A
& M g 25 4O,

GlacialTech® GlacialStars  powervo Slaclalsotar



GlacialTech®

T Adiustment screw if%@
etz | AREISTE A SRR IR AR I E AR A -
By | f@‘ Step 4.
y
L | Control the angle of the lighting fixture by
adjusting the M8x25 screws according to
e ———

[0 N
the application.

+

& . A
M <@ 3. 4O,

A SlacialSols
3 A GlacialSolar
GlacialTech®  GlacialStars FowerYour Idea ‘AT Al sy sy oo



